8 3 2 1
NOTES, UNLESS OTHERWISE SPECIFIED: Dm IRevised dim.wasO is::;.O I4’/9w:/q7l
ltem ltem name Drawing/Part
1 Instrument support  structure 89-GP—-1000—-3002
2 Instrument support structure base 89—-GP—1000—3003
3 Base locator block 89—-GP—-1000—-3004
4 Base locating dowel 89—-GP—-1000—-3005
5 AQ port cover 89-GP—-1000—-3006
6 Science port cover 89-GP—-1000-3007
7 A&G services port cover 89—-GP—-1000—-3008
8 Instrument support structure base fasteners| M12 x 50
9 Base locator block cap screws M6 x 25
10 Base locator block dowels 812 x 40
11 Base locator dowel cap screw M6 x 25
12 Port cover c/sk screw M6 x 12
Part section AA Part section BB View A
(5
7N . | 2/
N I\\I\/ ZL U0 gy WIREIET FAN
® @ \© ® & 590 808 ‘
= @O O ® O | PROOO 66 o
o _ O _0O 0 0 0 0 0 0 0 v
i & i B9 B0 9 O
: 29l )88
- ® 90O
: ®| | RRRBBB6
0 0O 0 0 0 0CQ 0 0
— i€ )
: t
C
@°®°G°@°®°®°®
OO O O O O 0O 9 3 10
D e/ &/ g/
O _O O _0O O
D @ & X
@0 O O O 0®
5
@0 O O O 0@
D A3
oooooo _ | —— _
0. 0_ 0 0.0_0 : R e [ GEMINI "™
oooooo FERESETERT “INSTRUMENTATION - SUPPORT
/ e S oy T - STRHCJURE ASSEMBLY
e | ww L B E 89—GP—1000-3001
APPLICATIO o —05 M -3 g e SHE NI [wer 1
8 | 3 2 | 1



Section on CC

olyline shows allowable space envelope for A&G system

A
!

$1400.00

Z=0 Cassegrain rotator
co—ordinate system

250.00 C

285.00

800.00

1215.00

1459.00

— ———2x 113.00

A&G to ISS base mechanical
interface plane

This sheet number is for reference only, not for manufacture

INSTRUNENT SUPPORT STRUCTURE ASSEMBLY

GEMINI }MM £l 89—GP—1000—3001] p

[ |

8 7 6 5 1 4 3 I 2 I 1




